Physics 2A

EXAM 4


Name:____________________ 

Instructions:
1. Show your work on numerical problems. Do not expect any credit for a problem if the instructor cannot logically follow what you have put on your paper.

2. Make sure you include units with each answer. One point will be deducted for each infraction.

3. Round your answers to no more than 2 decimal places.

4. Circle your final answers.
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	1 mile= 5280 feet (exact)

	1 day= 24 hours (exact)

	1 km =0.6214 miles

	1 year=365.25 days

	1 inch= 2.54 cm (exact)

	1 hour=60 minutes (exact)=3600 sec

	1 km=1000 meters (exact)

	1 slug=14.59 kg

	1ft=30.48cm

	1 foot= 12 inches

	1 cm=0.01meters=10 mm (exact)

	Acircle=r2; Circumference=2r

	1 atm=101300N/m2=101300Pa=14.7psi

	1Liter=1000cm3=0.001m3
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Equations, Conversion Factors and Constants:


	
	 (oC-1)
	c(J/kgoC)
	LF (J/kg)
	Lv(J/kg)

	Water
	2.1x10-4
	4186
	3.33x105
	2.26x106

	Lead
	29x10-6
	128
	2.45x104
	8.70x105

	Aluminum
	24x10-6
	900
	3.97x105
	1.14x107

	Copper
	17x10-6
	387
	1.34x105
	5.06x106

	Mercury
	1.82x10-4
	138
	1.1x104
	2.94x105

	Ice
	5x10-6
	2090
	
	

	Steam
	
	2010
	
	


� EMBED Equation.3  ���
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